= AH O
N = 0 &8 AF S & Al A
20109 & =204t JIEIELIH &M
2M: AR =X
H: HASES MY X2
B 9230 XN (A2ESII=22Y EY3H (e dS)
- _ bSRE Y=
2N -3 - SHA(SAH) - MEANY - BHY 0] AFCH @;OH Hns
AEI = X 0t 2,001,994 1,800,230 201,764
= 88,287
o= 16,548
Al 1,897,159
HNASSES MEotd X3 2,001,994 1,800,230 201,764
= 88,287
< 16,548
Al 1,897,159
o220 XA (2SI =229 =4 665,716 665,516 200
= 88,287
< 16,548
Al 560,881
o= =20II=2 =24H9 649,216 665,516 A 16,300
=2 88,287
[==4 8,298
Al 552,631
101 Q124 H] 27,384 35,454 28,070
= 21,907
Al 5,477
04 JIZtHIZ22SE S 27,384 35,454 /8,070
O 220 Atai&el(iel) 27,384
= 21,907
Al 5,477
307 GI2t0IH 82,976 93,871 A~ 10,895
= 66,380
< 8,298
Al 8,298
01 2L P =H| 82,976 93,871 A~ 10,895
Oot=2(2,35721) 1,500
= 1,200
< 150
Al 150
Oy & FoEd 2(7721) 25,000
= 20,000
< 2,500
Al 2,500
ogz20 =22 3,000
= 2,400
== 300
Al 300
Ofz2320 =o8d 242 5,750
= 4,600
< 575
Al 575
O9az0 AAMERXYI 47,726
=2 38,180
= 4,773
Al 4,773
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X XH .
S Tt

el

20
B
2

308 XtXIHHMSOIA 538,856 529,691 9,165
05 MXIEHM2AEES 538,856 529,691 9,165
OozEsdad &8 534,320
Odddexidl 2 4,119
OFAFSESE=g=aE g=g= 417
AE=sHER =M 16,500 0 16,500
= 8,250
Al 8,250
101 Q12| 10,000 0 10,000
= 5,000
Al 5,000
04 JIZMZ 2N EE 10,000 0 10,000
O9dzs0 A2 (1 10,000
= 5,000
Al 5,000
201 et 2,600 0 2,600
= 1,300
Al 1,300
01 AtR2teld] 2,600 0 2,600
Odzs0s € HE 1,000
= 500
Al 500
O2dzs0ME 82 1,000
= 500
Al 500
Odzs0 oA 600
= 300
Al 300
202 O] 3,900 0 3,900
s 1,950
Al 1,950
01 =LHOHI 3,900 0 3,900
O2dgs0 = 2,000
< 1,000
Al 1,000
OAz20AId2d 1,900
[ 950
Al 950
MESXIZ 2Y(OIZY sg3 1,336,278 1,134,714 201,564
TRz 2l 13,988 13,988 0
201 LEt=EH| 5,000 5,000 0
01 AtR2teld] 5,000 5,000 0
OSN3 MER Matztel HEF+2 5,000
202 O 5,988 5,988 0
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A ZHS
M HUXGE HE - Eg2

SRl BEAZBINY KA (EHAFHRAXASEEH) (25l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
AR DED 1,723,904 3,870,213 A2,146,309
| 20,000
Al 1,703,904
WX He - 22 20,050 20,365 A315
| 20,000
Al 50
UHAFHA Y KM (LHAFH AN RS S 3H) 20,050 20,365 A315
| 20,000
Al 50
SHAFHRY IIB T LA 20,050 20,365 ~315
| 20,000
Al 50
402 212X 20 20,000 0 20,000
| 20,000
02 ©I2FCHEH ARl 20,000 0 20,000
OlZa DHXMACK IR - 5% N 20,000
)| 20,000
802 Bret2IE 50 50 0
03 RIS 50 50 0
O0IXt4g Brata 50
=401 NEHH 75 883,663 2,490,578 ~1,606,915
ARIEIT] Bel 2 2Y FAHSH(SZHNZY ¥ e 833,663 2,490,578 ~1,606,915
Sw3)
52 - JIYRAGN 2 2o 125,883 345,700 ~219,817
101 @121t 16,983 13,800 3,183
04 JIZH22HSES 16,983 13,800 3,183
OS2 - IR S 16,983
olle2a 32,8802 + 1091 * 102 * 43 13, 152
oFEELY 32,8808 + 100! * 22 « 43| 2,631
o 2rall| 3,000 * 1021 * 102 * 43 1,200
201 Yer2 Y| 26,000 43,600 A17,600
01 ALR eIt 10,000 30,000 20,000
OBEE2 U AFYIL +42 10,000
2 TZ2YH| 16,000 13,600 2,400
ORM=ZUN JH2S MIIR2
300,008 * 122 3,600
OsZLXBAMNRA S22 5,000
OBS0ISAE RIZL 5,000
OSUAHIAIAY KX 100,002 * 128 1,200
OFJ|oHE2r2| H A 10,0002 * 128 1,200
202 Oit] 9,500 9,500 0




A ZHS

M SA0Y XNEMA 25
Eelr AHEX 22l ¥ 2E 243K

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
01 =Ujoit] 9,500 9,500 0
OS2 243 257 7,000
OSZLX 22l Y257 2,500
206 T2 5,000 10,000 A5,000
01 T2l 5,000 10,000 5,000
ON&E gazsr 2,000
OBANY 22 3,000
307 2I2t0IH 8,400 10,800 A2,400
02 BIHFABE 8,400 8,400 0
OBENSA 29 U o5 245 X2
2,100,0002 * 43] 8,400
401 AEHIYL S0 58,000 208,000 150,000
01 Al&| 50,000 200,000 ~150,000
OS2 - JIYRXSX NES Yl o 24 50,000
03 Al&=OHH| 8,000 8,000 0
OM& o 2H=STHY UXt S 8,000
405 XtarE S| 2,000 0 2,000
01 XHAYSEF S| 2,000 0 2,000
OB2INSA 0/SA @m 2,000
s3CX L=SAH K& 6,822 9,822 23,000
301 YBrEAS 6,822 6,802 0
10 BAAHIEAS 6,822 6,802 0
OYFAH LS - MOILt &4 6,822
ol Bl vl 750,958 2,135,056 ~1,384,008
801 CilI bl 750,958 2,135,056 ~1,384,008
NICT 750,958 2,135,056 ~1,384,008
OolHI ] 750,958
HERs S48 XA 804,227 1,345,280 A541,053
=HR SANM(EREDL SH3H) 104,637 109,641 A5,004
SYTHI NTES 104,637 109,641 A5,004
201 Ygreg| 78,249 78,489 A240
01 AtR2elt] 11,710 12,550 840
oY 22| 8,000
ONFHENM L DEHBDXIA 014
10,0008 * 20 A 2,000
CHEMTUE HHARI|I] A2E 7Y
500,008 * 204 * 63l 6,000
om =] 3,710
oHE 200,000 * 791 * 23] 2,800




A ZHS
HH: znsE s4 AL
ctel: =X 2EHA (=R 2e SE3H) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
o Xl st 100,000& = 7¢! 700
SR 30,000& * 7! 210
02 E52gH| 66,539 65,939 600
ORER= 3,000,000& * 123 36,000
OSYFTHI ReUHSZAAY B2 18,539
oNME3IHE 217,800& = 671 » 128 15,682
oHAUH= 9,680& * 6J| ~ 128 697
oNMIIg 30,000& » 67| » 123 2,160
OBG=FiE A&+ FIILRA
120,000,000& = 10% 12,000
202 Oddl 5,988 5,988 0
01 =LHOHI 5,988 5,988 0
OFxg NEZE S Iz=d 5,988
307 2120l A 20,400 25,164 N4, 764
05 QI2tRIE = 20,400 25,164 N4, 764
OSYFTI ReUHSZAAY B2
1,700,000& = 12& 20,400
SLFIUE 018 MHIA M (F=xE2e EE3A) 699,590 1,235,639 536,049
SEFIE =4 22 223,125 14,430 208,695
201 LEt=gH| 2,200 1,980 220
01 AtR2teld] 2,200 1,980 220
OusEM 822 M 2,200
ogl =0t 50,000& * 100HA * 23 1,000
o 2HE 60,000& * 1004 23l 1,200
301 et a= 1,575 2,450 A875
12 JIEtE o= 1,575 2,450 A875
OFit2cied M2 & 82 1,575
o M2 550
-ot2 10,0008 * 25¢1 * 13| 250
-SE2 12,0003 » 25¢! * 13| 300
oHE 6,000& = 2501 = 13| 150
SEN)] 35,000& » 25¢! = 13| 875
401 AIEHIZ 20 219,350 10,000 209,350
01 Al£Hl 210,000 10,000 200,000
O3g=Xd 0182t ¥ =X& EAE FH 10,000
o0l ety e 400,000& * 1000 £ 4,000
oFAE HAH 200,000& = 10902 2,000
oFXt=Al HXIE 200,000& = 2004 2= 4,000
O22LESFUMHE =UNHEELSA 150,000
Osclz=sstue =HEXILEIA 50,000




SN

ZHnSH

M sns =4 &
tel: SLEFIE 018 MUlA MA(FEe S83) (et =3
- — _ XN H
SN I SRI(S) - NRAY - B sk LS B RS2
03 AIZ R0l 9,350 0 9,350
OBAENEAL 2222 5,000
OZYFNEEM AREIN442 3,000
OSTATEFTUMHY FUNHILBA AL
CHHI 150,000,000 * 0.90/100 1,350
ol gl bl 476,465 1,221,209 AT44,744
801 OlHIHI 476,465 1,221,209 AT44,744
01 oilbldl 476,465 1,221,209 AT44,744
oollgldl 476,465
HE2IZH (ZMREL) 15,964 13,990 1,974
OIH2HH (53X L 2te| SE3IAH) 15,964 13,990 1,974
ol 2| 15,964 13,990 1,974
101 Q1 Z4H| 15,964 13,990 1,974
03 RIAHAZZNE = 15,964 13,990 1,974
Os3tx&e 224k B2 15,964
=JlZ2g 32,8803 * 191 = 250 8,220
cal= 8,220,000 * 4/12 2,740
cAXtRE R It 32,880 * 1¢1 » 20« 658
S EIEE RS
5,000& = 121 = 20A[2t = 12& 1,200
oFsxd 32,880 * 1¢! * 52 1,710
S PN 8,220,000& * 10/100 822
o X Il 15,350,000 * 4/100 614




SN HETBY
Ha: gAN 12 S
Sl SEBAWL(SEMNS SHEH) (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
A8 =D 4,348,430 2,974,290 1,374,140
= 1,960,000
| 556,000
= 62,000
Al 1,770,430
@K 12 LB 4,133,738 2,764,598 1,369, 140
= 1,872,000
o] 556,000
= 62,000
Al 1,643,738
SHHANL(SEHE SH3H) 4,133,738 2,764,508 1,369, 140
= 1,872,000
| 556,000
= 62,000
Al 1,643,738
ARE SN FHAL 302, 160 553,960 A251,800
401 AIEHIL2CH] 302, 160 553,960 A251,800
01 Al&t| 300,000 550,000 250,000
0472 54201 FHl L FEAY 300,000
03 Al&=CHH] 2,160 3,960 A1,800
OARD 5H2 Ul L FHAMY AL
bl 300,000,002 * 0.72/100 2,160
StE |XES 202,831 212,831 10,000
201 LByl 1,000 1,000 0
01 A2l 1,000 1,000 0
OBt4+E +ZAAN W48 L 2| 1,000
202 04t 8,391 8,391 0
01 2Uhoit] 8,391 8,391 0
OBt4+E 2 +THM PL=T 8,391
401 AIEHIL2CH] 201,440 201,440 0
01 Al&t| 200,000 200,000 0
OBt %= (HE)BH SUSLZA 200,000
03 Al&=ChHl 1,440 1,440 0
Oft4(XHE)BA SXUBLZA ALY
200,000,0002 * 0.72/100 1,440
405 THAHE S 12,000 2,000 10,000
01 RAUSEH S| 2,000 2,000 10,000
OB +TABR DAUNEAE Zalg 2 2,000
EALHELSHAA L S AL 300,000 1,085,715 ~785,715
| 210,000
Al 90,000
401 Al4HIL = CH| 300,000 1,085,715 A785,715
] 210,000




SN HETBY
Ha: gAN 12 S
Sl SEBAWL(SEMNS SHEH) (25l &2
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 Hws2
A 90,000
01 Al&t| 297,855 1,079,000 A781,145
O£ EZ2 HLAY A 297,855
o] 210,000
Al 87,855
03 Al& = CH| 2,145 6,715 A4,570
OIS+ RYS HLAY ALR0HY|
297,855,0002! * 0.72/100 2,145
B EH EZ2A 2R 6,000 1,000 A5,000
401 AIZHIL 2O 6,000 6,000 0
01 Al&t| 6,000 6,000 0
O+ &I AIBZAHT0HA) 6,000
SLEIY 22 2,300 1,800 500
201 Yoyl 2,300 1,800 500
01 ALR2lt] 500 0 500
OSABIE 44| 500
02 IS 1,800 1,800 0
ORLBIY MI|I23 150,008 * 122 1,800
BRM54CE 29 X2 2,900 2,900 0
201 Yer2 Y| 2,900 2,900 0
02 IT2Y| 2,900 2,900 0
Ot =4 5t4 =85l 2,900
R 93,547 196,392 ~102,845
801 il bl 93,547 196,392 ~102,845
01 0ff il 93,547 196,392 ~102,845
OO0l 93,547
LTI Gtael ZHAY 1,991,000 700,000 1,291,000
=2 1,394,000
Al 597,000
401 AU = O] 1,991,000 700,000 1,291,000
= 1,394,000
Al 597,000
01 Al&H] 1,983,858 695,617 1,288,241
OATIEH BH4201 FUIA Al&Y] 1,983,858
= 1,394,000
Al 589,858
03 Al&=CH| 7,142 4,383 2,759
OA& =] 1,983,858,0002! * 0.36/100 7,142
HYSS QIE HBY SHH 2SI 460,000 0 460,000
| 276,000
Al 184,000




SA: AL™ Y
Mo wax 12 2322
©el: SEFSHIML(=ZHL ES3A) (ehel: =3
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
206 M=l 460,000 0 460,000
Il 276,000
Al 184,000
01 M=H| 460,000 0 460,000
Oetd=H d&&d sAME= 460,000
| 276,000
Al 184,000
sl 70,000 0 70,000
| 70,000
207 A0 70,000 0 70,000
| 70,000
01 ¢22E S| 70,000 0 70,000
OEs2l AMEHE ~8ESR 70,000
Il 70,000
St=s=dXXelAlE EXIAS 683,000 0 683,000
= 478,000
= 62,000
Al 143,000
403 XXM SA=01H 683,000 0 683,000
= 478,000
& 62,000
Al 143,000
02 BII2SOHHStCH AL I 683,000 0 683,000
Odt=sd Al MelAld XA 683,000
= 478,000
& 62,000
Al 143,000
HE2IZH (AL H M) 29,270 29,270 0
ol el (+EME S 24,270 24,270 0
el A 24,270 24,270 0
101 el ] 24,270 24,270 0
03 RIAHAZZHE = 24,270 24,270 0
OXlot= 2 21,870
=JlE2s 44 6503 » 121 » 250 11,163
ooz 11,163,000& * 4/12 3,721
cAHXNRSFII=Y  44,650F * 121 » 20 893
SAIH2RE
6,950& = 12 = 20A[2t « 128 1,668
oFFad 44,6502 * 191 * 52 2,322
S PR 11,162,500& * 10/100 1,117
SPSELY Fall 20,884,000& = 4/100 836
o Il = 4| 150
Oz&¥Egs 2ol
20,000& * 12! = 10& * 12& 2,400
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M SAICIXFRI I
S Ol XSE AR
E2l: TAIDIBAIE EE(DIBHAIE

Jm

tob

E3)

Jo
Ot

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES Ol AF o8 HwsZ
S AICIXHO! Bt 611,249 1,312,384 AT701,135
OIHXIEBE R SAIDNY 611,249 1,312,384 AT701,135
SADIBAIE SE(JI8AIE SEalH) 36,019 82,000 A45,981
B ERES 2 36,019 82,000 A45,981
401 A& HI2L S 36,019 82,000 A45,981
01 Al&H] 36,019 82,000 A45,981
OJIBHAIE & XA 36,019
EII0IZEY SAHAE FU(SAHSALUHX L4 575,230 1,230,384 AB55, 154
E93IAH)
|01 CAHAE B 575,230 1,230,384 655,154
401 Al EHI 2SI 575,230 1,230,384 AB55, 154
01 Al&dl 575,230 1,230,384 AB55, 154
OZEI0IES TAHEANE H=E A B4 550,000
OZ&8it==& 25,230
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SH: ASD
Ha: M@y EHSHTM
o9l ZEFY Bel(FYAY S5 (e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ HwsZ
A= D} 2,350,965 2,683,671 £332,706
MeH FHSHEHN 2,301,493 2,640,320 338,827
TSFe po(FUAMY SBH) 533,561 574,088 ~40,507
NgBS=e e 110,352 120,879 A 10,527
201 Ygreg| 107,952 118,479 A10,527
01 Attt 4,100 4,100 0
OANZOIIIE 2] N Al 2l
10,0008 * 5% * 502 2,500
OANZOIIIERR| Mad2E 2
400,0008 * 474 £ 1,600
02 22| 103,852 114,379 A10,527
ORMSRIX AZOITER 2] 1,500
cQAaFAE HA 1,500,008 * 18l 1,500
O2228 ANYOHIERZ| 2,000
cQAaTEET HA 2,000,0008 * 1] 2,000
OMB AlZotTE 22| 1,500
cQ4aTBT HA 1,500,002 * 18l 1,500
OAE 22 OIIEL 5,700
cQAaFEE HA 1,500,008 * 18l 1,500
o=y 2¥IHL 2,100,0008 * 23] 4,200
03222 2 MA 46,421
SBEXIIRZ 3000008 * 34 + 128 10,800
oxsiea 20,0008 * 34 * 122 720
cZEMEaTRE
600,0002 * 404 * 128 28,800
oSASMI| Helasa
800 * 44BHICH * 122 4,301
CRHRI 150,000% * 122 1,800
OB E2 1,678
SSRIXIZEEY  2,208,559,0008 * 0.010/100 221
oSPIXZEIS 108,310,000 * 0.10/100 109
=L PEL
1,736,251,65021 * 0.0153/100 266
c=pexBeE
120,000,000 * 0.0799/100 %
cRRBAFY
3,771,800,0008 * 0.0149/100 562
cRRBAVLE
18,142,000 * 0.0149/100 3
o MBtE R e
1,400,800,0002! * 0.018/100 253
oMEIBABRE 223,350,008 * 0.02/100 45
cEO SH2REE
1,150,000,0008 * 0.01/100 15
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SN A=
Hu: Jed FHREY
CHol: BEFH A2 (FHAY SLEIH) EER-E
SN SA(BA) - MEAD - BES Off &+ o4 B HnE2
Off & O
cHY LRSS
78,403,0002 * 0.01/100 8
OAIZOHIHE Ztela HZH
2,5003 = 4044 + BAIZ2E 105 8,400
OANZOHIIE 2tela B =l
200,000& = 4042 800
OY¥d=e1Xt AMSOHIE AERA 6,306
oA =K Al 1,000& = 4,730m 4,730
cUI LY 100,0002! * 1CH 100
SURESN 369,000 * 4JH A 1,476
O22Ze ANIOIE ALRX 9,284
o d=F Al 1,000& = 7,339 7,339
oM T2 X | 100,000& = 1CH 100
PRI PN 3690008 * 5744 1,845
OAMet AIEOHIIE AIE R Xl 9,088
ocd=7 A 1,400& = 5,629 7,881
o H I =Xl 100,000& = 1CH 100
SUREESPN 369,000& * 3JH A 1,107
OAE=e2xt AIGOtIE AIER A 8,842
cASRX | 1,0002! * 7,266m 7,266
SR E=Le NN ] 100,000& = 1CH 100
SUREESPN 369,000 = 4042 1,476
OHASHOILHE ALRX 2,333
oA =K Al 1,000& = 2,333 2,333
202 O 2,400 2,400 0
01 22Uy 2,400 2,400 0
OYgu=e 32 % 24 2,400
=0 =gz 2l 27,588 57,588 A30,000
201 2Bt 21,600 51,600 /30,000
01 At22telH 21,600 51,600 230,000
OsSJIese g2+4R 8002 * 100 CH 80
OgFsadds=2 3,000 = 40K CH 120
OsA=% === 2,000,000& = 6AICH 12,000
OBNZ NS HY 48
150,000& * 20AlICH 3,000
OS2 MAULF U FHIHNH
270,0008 * 20AICH 5,400
OsX3zel HATH KX 22 1,000
202 01l 5,988 5,988 0
01 2L 5,988 5,988 0
O8X2 BP4s 8 998
OBX=2 482 o 1,996
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SN
X XH .
S Tt

el

_ _ SN E N
I3 - CR(ZAH) - NRAY - BES Off &+ o4 Ol A4
O8X3 ML s 2,994
Fe UF2E3 ¢ 395,621
& 32|Ef 395,621
A3 395,621
OMSt OIHE YXZEZ et 70,515
oLE MIE 18 1,102,500 * 1AICH 1,103
oLE MIE 28 2,412,000 * 1AICH 2,412
o2E MIE 35 3,015,000 * 1AICH 3,015
oYE IS 45 3,102,5002 * 1AICH 3,103
oUT AU 15 1,050,000 * 1AICH 1,050
oUT BEAE 28 2,508,0008 * 1AICH 2,508
oUT FAUE 38 3,135,000 * 1AICH 3,135
c2Z H1B 15 4,020,0008 * 1AICH 4,020
2% MIE 28 5,025,0008 * 1AICH 5,025
o2Z 2 15 4,180,000 * 1AICH 4,180
oS8 B2 28 5,225,0008 * 1AICH 5,225
o2Z E2E 38 6,878,550 * 1AICH 6.879
oSZ FUE 45 8,360,000 * 1AICH 8,360
o¥®ZE H1B 15 10,050,00021 * 1Al CH 10,050
o¥ZE FAUS 15 10,450,00020 * 1Al CH 10,450
222 NGOHE FLE3 Pat 91,583
oUZE HIE 15 2,453,850 * 1AICH 2,454
oLZE H1E 25 3,072,000 * 1AICH 3,072
oLZE MB35 3,840,0002 * 1AICH 3,840
oUE FAE 15 3,192,0008 * 1AICH 3,192
oUE FAS 25 3,990,000& * 1AICH 3,990
23 HM1Z 15 5,120,0008 * 1AICH 5,120
©oZ2Z M1 25 6,400,0008 * 1A CH 6.400
o2Z E2UE 18 4,564,350 * 1AICH 4,565
o2Z U 28 5,320,0002 * 1AICH 5,320
°o2% S 35 6.650,0002 * 1ACH 6.650
o¥Z M1 15 10,240,00021 * 1Al CH 10,240
o¥ZE H1E 25 12,800,00021 * 1Al CH 12,800
o¥E AU 15 10,640,00021 * 1l CH 10,640
o¥E FAUE 28 13,300,00021 * 1Al CH 13,300
O=Seext OIIE YFEZZ e 136,823
oUE FAS 15 3,732,0008 * 1AICH 3,732
23 HM1S 15 4,500,000 * 1AICH 4,500
©oZ2Z M1 28 4,750,2008 * 1AICH 4,751
©2Z M1 3% 5,938,830 * 1AICH 5,939
©2Z M1 45 6.000,0002 * 1AICH 6,000
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SN

Mo MEAd FH2SEA
ol BEF Hel(FUAMY SH3) chel &)
SA-EH O (BH) - HBAY - B2 Ao gggﬁ HRS2
o2& MISE b& 7,500,000 * 1MICH 7,500
o228 ZUS 18 4,655,000 * 1MICH 4,655
o228 F2UE 28 4,665,000 * 1MICH 4,665
o2& F2E 33 5,938,330 * 1AICH 5,939
o2& B2UE 43 5,939,330& * 1AICH 5,940
o238 F2USE 53 6,220,000 ~ 1AICH 6,220
o228 Z2UE 63 6,776,200& * 1MICH 6,777
o228 ZAUF 7S 7,439,330 * 1MICH 7,440
o2& IS 83 7,775,000% = 1MICH 7,775
o¥WXE MIOE 13 12,000,000& = 1AICH 12,000
o¥ZE HINE 23 15,000,000& = 1AICH 15,000
o¥E FZ2UE 18 12,440,000 *~ 1AICH 12,440
oY¥E Z2E 28 15,550,000 * 1AICH 15,550
OZ&1xt AlE0rLt AFEBSZ3 UHEt 48,700
od&E 1,323,000& = 10AICH 13,230
o2& 2,364,600 = 9AICH 21,282
o¥E 2,837,520& = 5MICH 14,188
OFA=H2X AIGOHIIE dF=ESZ2 Htet 48,000
oxdE 20,000,000& = 1AMICH 20,000
o2& 16,000,000 * 1AICH 16,000
oYE 12,000,000& = 1AICH 12,000
TEZEY FHUF JIBEL (FUNY SE3IT) 767,932 2,066,232 298,300
AMGAUFTE AE= EHI 100,900 100,900 0
401 AIEHBIZL 20| 100,900 100,900 0
01 Al&HI 100,000 100,000 0
OANGU=e AIE8E 3|
20,000,000& = 5J4SHX| 100,000
03 A& 2 0HbI 900 900 0
OANZEAUZ=E AIESEY 20|
100,000,000& * 0.9% 900
(0:/Ns]Rs]] ,667,032 1,965,332 A 298,300
801 odlblyl ,667,032 1,965,332 A 298,300
01 olBlyl ,667,032 1,965,332 A 298,300
(@) {Ns1Rs] ,667,032
HEMSAAH| (A=) 49,472 43,351 6,121
ASHH|(FEAIY EYZ3IH) 49,472 43,351 6,121
olzi2 gyl 49,472 43,351 6,121
101 Q1A H| 49,472 43,351 6,121
03 RIHAZZ R E 49,472 43,351 6,121
Odlz=eael 22X 24=(39!) 47,891
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ro g2 ry
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SN0

~o
M
oy

=

=

Jn
g
tou
=

il
x
0

o

.S (2AH) - MBAY - BES

[
2

0
S

2 |

0 oY

o
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0
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0
R
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Jb==% 32,880 » 32 » 20
o

o
40 o

0
=

r

0
1
[a |
o 4
on

0
Y

S
o
e
rx
=5

40

O
= 0
it
=
ol
HL
0o

Al

32,8803 * 321 x 250€
24,660,000& = 4/12

5,000& = 3¢ » 20A12+ » 12
32,8803 * 301 x 52«
24,660,000& = 10/100

46,049,000& = 4/100
47,891,000& * 33/1,000

24,660
8,220
1,973

3,600
5,130
2,466
1,842
1,581
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SN SEBAALL
HE: LS 2BEY A
SHol BAIZAL SY(SEMHM SHEIH) (ol &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES 0f Ao Sl ko HRE2
TS B AL A 2,147,593 2,105,498 42,005
HSsdsH =2EE e 956,086 824,238 131,848
BZIIZANE 2D (EME SE3IAH) 956,086 824,238 131,848
otrZSYUXME 2H 2t 306,616 228,936 77,680
201 B3| 294,640 199,320 95,320
01 AtR 22/t 61,680 2,300 59,380
Oxgs= 100,0002 * 169! 1,600
OHIIEHNE 200,000 * 32! 600
ogNzRsd 59,480
o A H| 70,0003 * 22! = 1124 15,680
o= AH| 60,000& * 2¢! » 365 43,800
02 B2 232,960 197,020 35,940
O=232z= & HA 211,960
cdIIea 15,500,000& * 12& 186,000
ciole=ER3 300,000& = 12& 3,600
cIIAMNER 60,000& * 12& 720
ocEdMHd = 100,000& * 3L * 23] 600
csteNs 282 350,008 * 2Cf 700
o XS XAl 100,000& = 2CH 200
oCCTV M EEMER 200,000& = 122 2,400
oA UM S| 100,000& = 13 100
CRQIAYNAY SXB2
170,000& = 122 2,040
oMot 2| EH A 1,300,000& * 12& 15,600
(@) K=3:] 3,000,000& = 5& 15,000
OXtgs Xl 250,000& * 2CH  12& 6,000
202 O4Hl 11,976 11,976 0
01 2LH0iH] 11,976 11,976 0
Odt==xel =& 11,976
St=MINHII fIE X el 240,800 257,600 216,800
307 QI2+0I A 240,800 257,600 A 16,800
05 BItRE = 240,800 257,600 A 16,800
OBt%MMI & Bae AsHe
86,0008 * 2,800 240,800
=Xdcl Ald &l 143,100 147,000 A 3,900
201 et 12,000 10,000 2,000
01 At 22l 12,000 10,000 2,000
O%+H2INE BURANG 242
12,000,000& * 13 12,000
206 M=H| 12,400 10,000 2,400
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SN
X XH .
S Tt

oLk

o aC 4>
0k O mA
0y rior

\N|

A A A
S BB
ZAE SY(FEHS SE

3|

S HE - CRI(EH) - HRAY - B sl Bl HlRE2
0 & 24
01 M=H| 12,400 10,000 2,400
O=XelA& FHH=E+L 12,400
oHidE XHEII2 595 25,000& * 605 1,500
ot ZTHIZ 98 250,000& = 105 2,500
o#"EQ 195 100,000& * 208 2,000
o HAZFL 205 30,000& * 308 900
oM elS 80131 (4P * 600A)
1,500,000& * 2K 3,000
<J|Et AE2EF 2,500
401 Al&HI LR OHYI 105,700 67,000 38,700
01 Al&H| 105,700 67,000 38,700
Og&=H™deldl &El 30,000,000& * 14 30,000
OFHXN(x=E2, BE2) A3 wHl
13,000,000& =* 4042 52,000
OEZ WX 2,500,000& * 4002 10,000
O&3J71 2371 LA 3,700,000 * 1002 3,700
O&Z0| oY ¥y &X
10,000,000& * 14 10,000
405 KHaHFESH| 13,000 60,000 A47,000
01 T =SS HSHI 13,000 60,000 247,000
O=Helgx 2 5,000,000  2CH 10,000
og9 2¢ 3,000,000& * 1CH 3,000
NAMEHHE sStsd 2 15,000 77,622 AB2,622
201 Let2d| 5,000 5,000 0
01 AtE22(Hl 5,000 5,000 0
ONHME s s 2 5,000
206 M=l 10,000 40,000 230,000
01 M=H| 10,000 40,000 230,000
OMNHMEIHEssd M+ 10,000
YF 2l 55,570 113,080 A57,510
201 B3| 4,850 1,600 3,250
01 AtR 22l 4,850 1,600 3,250
O==&ZAMN =2 400,000 = 43| 1,600
O+ THS SFIIJ| BEAAS42
650,000& * 5& 3,250
206 M=l 47,720 56,980 9,260
01 M= bl 47,720 56,980 A9,260
OCun=Xsdu =< 2,5002 = 6,000kg 15,000
OZclgsted20Is (M) 2L
230& = 44,000kg 10,120
OgstHolg =g 190& = 40,000kg 7,600
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SN SEBBAYL
BE: usyal 22y Ha
©el: SHIEAE 2E(=EME EL3H) (el &)
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
O+FNEESZIY 228 7Y
00,000& * 205 10,000
OFAI M=EHI| A28 2
2,500,000& = 2CH 5,000
207 Ao 3,000 3,000 0
03 A& Qi 3,000 3,000 0
Oasal A% P 50,0008 * 20% 1,000
OABA I P 10,0008 * 20% 2,000
DESHEEX EXAMY 195,000 0 195,000
401 Al&HI YR OHYI 195,000 0 195,000
01 Al&H| 195,000 0 195,000
ONESEEAEX XA 195,000
ol 24 Al 5,000,000,000& = 1.30/100 65,000
o & Al Z A 5,000,000,000& = 2.60/100 130,000
BHSAJH (SRS A L) 1,191,507 1,281,260 189,753
IA2HEH(~EMA SHIIAH) 1,165,171 1,254,924 A89,753
QlARAHI(EMNLEESIA) 1,165,171 1,254,924 A89,753
101 14| 1,123,791 1,212,604 A 88,813
01 = 780,084 897,637 A 117,553
oJl=g 394,467
=bg 2,961,300& * 121 = 123 35,536
SI= 2,485,400& = 221 » 128 59,650
o7s 2,028,500 * 421 » 128 97,368
=8 1,273,500& » 121 » 12& 15,282
=Jls’a 2,065,000& » 221 » 12& 49,560
=Jls8s 1,749,000& * 491 = 123 83,952
=JIs98 1,581,100& * 221 = 123 37,947
o X RIH&HI 379,295,000& * 4/100 15,172
odou=s 32,873
ogdI2+d 394,467,000& = 1/12 32,873
OAte 2R+ 65,463
obg 9,796& = 121 * 45A[2t « 128 5,290
1= 8,3128 » 201 x 45A12t » 123 8,977
o7g 7,4573 x 401 x 45A12t » 12& 16,108
=8 6,682 * 121 » 45A[12t » 12& 3,609
oJls’a 7,457 « 201 x 45A12F x 12& 8,054
=Jls8s 6,6823 = 401 * 45A[2t « 128 14,434
=JIs9=2 5,993% * 201 x 45A[12t » 123 6,473
o X IH&H| 62,945,000& = 4/100 2,518
OJts=4 18,360
o b S At 40,000& * 16¢! = 12& 7,680
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SN
X XH .
S Tt

el

ro g2 4>
T 0%

A A A
2HAH (=SB AMED)
S2ZHI(=EME SEL3AH)

RA B SA(BH) - NRAY - B 0fl &t e HRS2
o JIES 20,000& = 402! = 12& 9,600
o KH KA 30,000& » 321 » 123 1,080

OXMdSHIE £+ 16,868
o&su 51,990& » 621 * 43] 1,248
ocnsstu 433,880& * 92l 43 15,620

oJIZEE 17,040
o250l &t 130,000& = 3¢l » 128 4,680
2010/ 4 2508

10,0008 = 3¢ * 128 3,960
<15 0l2f 208018 80,000& = 6¢1 » 12 5,760
= 10=0l&af 1580/8 60,0008 = 201 » 128 1,440
o5& 0[4 10012 50,0003 = 201 » 12 1,200

ORIg=22=+¢ 50,000& * 16¢ * 12 9,600

onezes 7,99
o4z 2,961,300% = 1@ « 128 = 4.8/100 1,706
obg  2,485,400¥ * 1Q1 » 128 * 4.8/100 1,432
o6=  2,028,500& * 191 = 128 * 4.8/100 1,169
1563

2,223,100& = 1¢1 = 128 * 4.8/100 1,281
ollsT=

1,821,700& = 22! » 128 = 4.8/100 2,099
o X2 I 7,687,000& = 4/100 308

OS+g*R=¢ 41,100

od)| - fg= ddAEE+E 300
-MD] tE A E LA
15,000& * 121 = 123 180
-FIE= M AR
10,000& » 12! = 12& 120
oZesg 180,000& = 1621 » 12& 34,560
oczl=d¢ 40,000 = 11 » 12& 480
ocEx=L2Rd 30,000& * 16€! » 12& 5,760

O HGAHI 130,000& = 16¢! » 123 24,960

OusSE 2t 24,120
obg 140,000 = 1Q1 128 1,680
o675 130,000& = 6¢l » 12 9,360
=895 120,000& = 11 » 128 1,440
olls7s 130,000& = 11 » 128 1,560
=J|s8~105 120,0008 = 7¢1 * 12& 10,080

OHE ROl 394,467,000& * 1/12 = 120/100 39,447

OIHAXI 28I 394,467,000& = 16.7/100 65,876

OGItE atHl

394,467,000& = 1/12 = 1/30 » 20 21,915
02 JIetx 2= 152,187 159,288 AT7,101
OF=§tc=bs 152,187
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S AESANYL
B3 HESAAL(SESAAYL)
el olARIAHI(SEMA SESA)

(=] X~ xH Ctel(a (=] (o] HAX2 AFOH I'—-IL'E—“:—

=

olles 1,758,500& » 3¢ = 123
odd= 63,306,000& = 1/12
oltE=d

—bi = Xt 40,000 = 321 » 123

-JIEHHS 20,0003 » 991 » 123

ANESHIE X

-8 51,990& = 321 * 43

-1Sstu 433,880% * 32! * 43
o 180,000& = 3¢l » 128
ofgsdg 50,000& = 321 » 123
odII2EHE

-10= 014158018 60,000 = 3@l « 128
o AZ A 130,000& = 3¢l * 128
oW S A 120,000& = 3¢! * 128
o2 g8 A 105,000& = 3¢ » 128
o 2 &S] 50,000& = 321 » 123
o HEF I

63,306,000& = 1/12 = 120/100

o IS &M

63,306,000 * 1/12 = 1/30 * 20
63,306,000& = 16.7/100

oAl 2R4y
6,3422 * 32 * 4512 + 12
coERLY
2,148 * 121 * BAI2t 365
ogaasy 47,7759 * 121 * 112
oSAX2R4Y 30,0008 * 391 x 122
S H M &b 146,333,002 * 4/100
=[BRS
0820|352
SIS 1,230,3702 * 491 * 122
4013
lgay
1,230,37020 * 50/100 * 421 * 43|
-¥asy 1,230,3708 * 491 * 23
=L 1,230,3702 * 49 * 53]
oXoITALY 70,0008 * 491 » 128
os4URLy 90,0002 * 49! 128
oot ELY
SV 40,0002 * 49! » 122
-JIEDIE 20,0002 * 821 * 128
SSIEETICE SN
£t 51,9902 * 29 * 43|

63,306
5,276
3,600
1,440
2,160
5,831

624
5,207
6,480
1,800
2,160
2,160
4,680
4,320
3,780
1,800

6,331

3,517
10,573

10,275

6,173
5,351
1,080
5,854
191,520
183,940
59,058
44,294

9,843
9,843
24,608
3,360
4,320
3,840
1,920
1,920
3,888
416

_22_




ro g2 4>
T 0%

[H0 Mo ot

T 1o
IS

—

A

02 02 0¥
=
[0 i

Sy =
— T
n
> P
Il

0@
N

~

ton
x

n%
g

~

CEB L C(B) - HRAY - A Aol e
-s&n 433,880& * 201 * 43| 3,472
oA GAH| 160,000 = 4¢! » 12& 7,680
cuwEE 2| 140,000 = 4Q! « 12& 6,720
S JHAIXIA I 110,000 = 4021 = 12& 5,280
o JEHFOHY| 1,230,370& * 40! » 2& 9,843
oxi2RE 19,272
-AZ2teI 2R 7,913 » 401 » 365 11,624
-Se2Ry 95,5003 * 4921 * 20 7,648
cHIRSF =Y  95,500& * 401 » 20 7,648
o X RIH&tl 175,202,000& = 4/100 7,009
o ZtAlH| 1,800 * 421 = 20 « 12& 1,728
Ol =l 150,000& = 49! 600
OZ0Istd AHEE=
174,493,000€ * 4/100 6,980
AR FLH 4,960 4,880
R R =X 760 680
OFAIAH L FAH| 40,000& * 192! 760
FA2IYERF=AH| 4,200 4,200
ORAMZZHERF=2AI 350,000& = 12& 4,200
NI AH| 36,420 37,440
Mg HRHF| 1,200 1,200
OHMZHIRF=AH| 1,200
obg 100,000& = 1@l » 12& 1,200
HZE X 25,620 26,040
O&AZEXHI 25,620
obg 250,000& * 12l  12& 3,000
SL= 155,000& = 2¢! » 12& 3,720
o7= 140,000& = 4Q! » 12& 6,720
o8~9=2 105,000 = 12! » 12& 1,260
oJlls7a 140,000& = 221 = 12& 3,360
=J|58~92 105,000& = 621 = 12& 7,560
SZgRs-E 9,600 10,200
Ol &=l 50,000& * 1621 = 123 9,600
(=& SEE3AH) 26,336 26,336 0
Bl (=& S HSIH) 26,336 26,336 0
2 Bt2 Z | 23,616 23,616 0
01 AFRZ2IH| 23,616 23,616 0
ORM2E Jl=2 300,000& * 12& 3,600
OMREE 7Y S) 200,000& * 128 2,400
O#MIMIII A28 7
300,000& = 8CH = 32l 7,200
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